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1. (a) (i) Thestudy“New Marrow MayHelpWith SCIDS”is anobservationalstudysincethedoctors
merelyobservedandreportedtheresultsin a groupof transplantedpatients.Therewasno
controlor treatmentcomparisongroup.
Thestudy“StudyQuestionsGrowth Hormones”mayhavebeenanexperimentsincethere-
portstatesresultsas“increasingthetargetheights”,meaningthattherearepreviousstudies
determiningexpectedsizes.However, thatis notclearlystated.

(ii) If the first study were to be doneas an experiment,we would needto randomlyselect
childrento have transplantsandto preventotherchildrenfrom having transplants,which is
probablyunethical.

(b) (i) In both cases,we are not given the resultsof a similar group with no intervention. In
particular, the first studydoesnot compareits resultsto any othertreatment,so we don’t
know how “good” aretheresultsthey arereporting.Thesecondstudystatesa comparison
with respectto expectedheights,however we arenot told aboutthesourceof theexpected
heights.
More generally, not having a control groupmeansthat we can’t distinguishbetweenim-
provementsthatwouldhave happenedanywayandimprovementsdueto thetreatments.

(ii) In bothcases,having a controlgroupmeansleaving a groupof childrenwith no treatment.
In thefirst case,it is clearthat it might have beenunethicalsincethe life of thechild is at
risk. In thesecondcase,it is not thatclearsincemostof thecaseswerecosmeticalcases.

(iii) In bothstudies,therewasa strongexpectationaboutwhat would happenif the treatment
were withheld (“SCIDS once considered almost always fatal” and “average of about 2
inches taller than would have been expected otherwise”). Especiallyin the bonemar-
row study, thereis no expectationof spontaneousrecovery so the improvementin life ex-
pectancy couldbeattributableto thetransplant.In thehormonestudy, theimprovementwas
smallsoit is believablethatthehormone(or anythingelsethathappenedto thechildrenin
thestudyperiod)wassimply ineffective.

2. Moore, 1.17 (p.31). The reported6.5% is a statisticsinceit representsthe percentageof
unemployedin the60,000householdsample,not in thetotal population.

Moore, 1.18 (p.31). The number2.503 representsthevalueof theparametersinceit is the
averagediameterof all balls in the carload. The number2.515 is a statisticsinceit is the average
diameterof asampletakenfrom theballsin thecarload.

Moore, 1.19 (p.31). 43 (out of 100) is a statisticsinceis thenumberof unlistedtelephones
in thesample.Thereported52% is a parametersincethat is theactualpercentageof unlistedphone
numbers,outof thetotalpopulationof phonesin LosAngeles.

Moore, 1.20 (p.31). 68% is a parametersinceit is theactualpercentageof voterswho are
registeredRepublicans.On theotherhand,73% is a statisticsincethat is thepercentageobtainedin
asampleof voters.

3. Moore, 1.22 (p.31-32).

(a) High bias,low precision.

(b) Low bias,highprecision.
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(c) Low bias,low precision.

(d) High bias,highprecision.

Moore, 1.23 (p.32). If bothsamplesaretakenunderthesamecircumstances,increasingthe
sizewill not reducethebias.However, it will improve theprecisionof theresultssincetherewill be
lessuncertainty.

4. Moore, 1.44 (p.52).

(a) FBI reportedlessrapesthantheNationalCrimeVictimizationSurvey becausetheirsourceis the
list of reported rapes,which is clearlyasubsetof thetotalnumberor rapes.

(b) Thereis nomargin of errorassociatedto theFBI databecausethey arereportingtheexhaustive
list of reportedrapes,nota probability-basedor randomsample.

(c) The FBI datais basedon rapesreportedby local agencies,who may under-report crimes,as
discussedin part(a). On theotherhand,theremaybebiasin theNationalCrimeVictimization
Survey becausepeopledon’t understandwhatexactlyconstitutesacrimeor mayrememberdates
inaccurately.

5. Moore, 1.52 (p.55). Thetwoquestionsproduceddifferentresponsesbecausethey areworded
differently. For example,the first questionis confusingsincethe response“ impossible” implies a
doublenegative (“ impossible that the Holocaust never happened”) whichproducesconfusionamong
respondents.This is not truein thesecondquestion,sinceneitheranswerimpliesadoublenegative.

Moore, 1.53 (p.56-57). Themainadvantageof usingClosedquestionsis thatthey areeasier
to process,while Openquestionscangetvagueor hardto categorizeresponses.

On the otherhand,the advantageof usingOpenquestionsis that they canuncover aspectsthat we
don’t think aboutwhenmakingthe questionnaire.Closedquestionscan totally missan important
point thatis in people’s mind.
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